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Feed Solvent

F =250 kg 5= 100 kg

[.I,q, }F =().24 [_.I,q, }5‘ = (.00
(x-)p = 0.76 (x ) = 0.00
(xg)e = 0.00 (xglg = 1.00

By material balances, composition M of combined F and §
IS:
M=F+58=230+100=350kg
(Xa)yM = (X2 )pF + (Xa)sS
= 0.24(250) + 0{100) = 60kg
(34 )y, = 60/350=10.171

(xc)pM = (xc)pF + (xc)sS
— (.76(250) + 0(100) = 190 ke
(xc)y = 190/350 = 0.543

(xs)uM = (x5)pF + (x5)5
— 0(250) + 1(100) = 100k
(x5),, = 100/350 = 0.286
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EohRagR S B S0 @ 5 M & g e By material balances, composition M of combined F and S

Is:
M =F+S§ =250+ 100 =350 kg
(xa)yM = (xa)pF + (xa)sS
= 0.24(250) + 0(100) = 60kg
SI,-"F =Efﬂi‘5 = 1(11;"25{1 = (0.400 (x4)yy = 60/350 = 0.171

5/M = MF [SF = 100/350 = 0.286 (xc)uM = (xc)pF + (xc)sS
= 0.76(250) + 0(100) = 190 kg
(x¢)py = 190/350 = 0.543

(xs)uM = (Xs5)pF + (x5)sS
= 0(250) + 1(100) = 100kg
(x5)y = 100/350 = 0.286
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— ( (Carrier)

M =Ry + E, = 350kg
(x4)peM = 60 = (x4)p Ry + (x4) 5 E
(2 )M =190 = {-":E'}R,,.RH + {IC'}E, E,
(X5 )yM = 100 = (x5)p, Ry + (x5) g, Ei
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(Solvent) §
Ei/M = MR, /E\Ry

Ry/M = ME | /E\Ry
with M = 350 kg. By either method the results are:

Ratfinate Product Extract Product
Ry= 1986 kg E,=1514kg
(xx,) = 0.025 (x4) = 0.364
(x) =090 (xe) =0.075

(xg) =0.075 (x5) = 0.561
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Furfural
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